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81. (B) 4
5

6
7

8
9

11
12

4, 6, 8, 11

1 1 1 1, , ,

4 < 6 < 8 <11

Diffn

The smallest fraction is 
4

5
.

82. (A) The LCM of 200, 300, 360, 450 = 1800
sec.

It means all runners completed their
rounds 1800 sec. or 30 min.

83. (B) Average marks = 40

Sum of marks = 40 × 5 = 200

After, replacement, sum of new
observation = 200 – 74 + 38 = 164

Average of new observation = 
164

5
=

32.8

84. (A)

2
3

3
4

5
8

2
3

5
8

– 3
4

2
3

–

= 
1

24
      

1

12

Required ratio = 
1

24
 : 

1

12
 = 1 : 2

85. (D)
1 1 1

1

M D T

W
 = 

2 2 2

2

M D T

W

So, let number of burners be 'x'.

 
6 6 8

450

 
 = 

10 5

625

x 

After solving

x = 8

86. (D)
60

10 15 20

6 3

Days
(A) (B) (C)

(A + B) work for two days

(6 + 3) × 2 days = 18 units

Work let:  (60 – 18) = 42 units

Now, A replaced by B

(B + C) one day work = 4 + 3

(B + C) Compute remaining work in

= 
42

7
 = 6 days

Total days = 6 + 2 = 8 days

87. (A) 425 + 426 + 427 + 428

= 425 (1 + 41 + 42 + 43)

= 425 (85) is divisible by 17

88. (C) CP of 6 books = `4

CP of 1 book = `
2

3

SP of 4 books = `6

SP of 1 book = `
3

2

gain% = 

3 2

2 3

2

3

 
 

 
 × 100

= 125%

89. (D)

0%

+16% –10%

10 16:

5 8:

SP of article was sell on loss

= 
8 520

13


 = 200

90. (B) Let the price be x

After 20% reduction price = 
5

x
x

 
 

 

= 
4

5

x
= 162

x = 
405

2

Then, one can buy two more dozens
with 20% reduced

= 
405

2
– 162 = 

81

2

Per dozen = 

81

2
2

 =  `81

UP SI MOCK TEST – 39 (SOLUTION)



Ph: 09555108888,  09555208888 2

1997, OUTRAM LINE, KINGSWAY CAMP, DELHI - 110009

91. (B) Let distance is (2x + 175) km

ATQ.,

Speed of Varanasi train

Speedof New Delhi train

= 
Dist.of Varanasi train

Distof NewDelhi train


50

10
 = 

2 175

n

x 

x = 58.33

Total distance = (2x + 175)

= 291.66 km

92. (C) Given:- SP of a raincoat = `40

%P = 25%

CP of a raincoat = 
40 100

125


= `32

During the clearance sale, S.P of a
raincoat.

= 
40 85

100


= `34

% P = 
34 32

100
32


 = 6.25%

93. (C) Let efficiency of Kaushal = A

Efficiency of Munchun = B

(A + B) × 3 =  (2A + B) × 2

3A + 3B = 4A + 2B

A = B

A

B
 = 

1

1

Total work = (1 + 1) 3 = 6

Efficiency of A = 1

Kaushal can do the work in 6 hrs

94. (B)
3 6

5 3 2 12 32 50



  

= 
3 6

5 3 4 3 4 2 5 2



  

= 
3 6

3 2





=  3 2   3 2   After Rationalise

= 3 3 – 2 3

= 3

95. (D) Heads count = 50

legs count = 142

Average legs count for per head

= 
142

50
= 

71

25

71
25

Duck (2) Buffalo (4)

71
25

71
25

= –2 : 4 – 

= 21 : 29

Number of buffalo = 50 × 
29

50
 = 29

96. (C) Speed at upstream = (x – y) km/h

speed downstream = ((x + y) km/h

where, x  speed of boat in still water
and y  speed of stream

time taken = 
63

13 4
 = 7 hours.

97. (A) Let number of boys be 300

No. of girls = 200

Boys holding scholarship = 
20

300
100



= 60

Girls holding scholarship = 
25

100
× 300

= 60

Girls holding scholarship = 
25

100
× 200

Total students holding scholarship =
110

% of students not holding scholarship

= 
500 110

500


× 100 = 78%

98. (B) 100x 100 × 62 = 6200

90x

47x 43 -60x

Total vote

47x – (43x – 60) = 308

47x – (43x – 60) = 308

x = 62

Total number of voters in the voter list
= 6200

99. (D) P = principal

Sum = S = P 

2
r

1
100

 
 

 
= 1.448

1 + 
r

1
100

 = 1.2

r = 20%
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100. (A) ATQ.,

r
1
2h

1
 = 3r

1
2h

2

9x = 12 x = 
4

3

101. (D) If x +
1

x
= 1

x² +
1

²x
 = (–1)² – 2 = –1

Then, 4

2 ²

1

x

x 
 = 

2

1
²

²
x

x


 = –2

102. (C) SI = 
P×R×T

100
 = `36000

Total pocket money

= 6 × 2500 = `15000

Total expends of trust

= 6 × 500 = `3000

Total expenses = `18000

Amount to be received by the boy

= `(100000 + 36000 – 18000)

= `118000

103. (C) Aman : Samanth : Rachit

= (40000 × 24) : (60000 × 18) : (50000 × 15)
= (96 : 198 : 75) = 32 : 36 : 25

Hence, their profit ratio = 32 : 36 : 25

104. (A) A : P = 3 : 7 

P : P’ = 6 : 5

×6
×7

A : P : P’ = 18 : 42 : 35

The amount to money received by

Pramod (P) = 33630 × 
42

95

= `14,868

105. (D) Let each installment be x

ATQ.,

5 1

100

x
x

  
 

 + 
5 2

100

x
x

  
 

 +

 
5 3

100

x
x

  
 

 
 + x = 12900


105

100

x 
 
 + 

100 10

100

x x 
 
 

  + 
115

100

x 
 
  + x = 12900


21

20

x
+ 

11

10

x
 + 

23

20

x
+ x = 1290


86

20

x
= 12900

x = 3000

106. (B)

280
E

F

230

GH

A B

CD15m

15m

200

15m

Area of rectangle ABCD

= 250 × 200

= 50000 m2

Path is 15 m wide on each side then

EF = 15 + AB + 15 = 280

Similarly, EH = 15 + AD + 15 = 230

Now, area of EFGH = 230 × 280

= 64,400 m2

Area of path = 64,400 – 5000

= 14,400 m2

107. (A) M : H = 3 : 2 

H : S = 3 : 2

×3
×2

M : H : S = 9 : 6 : 4

The numbers of runs scored by M in
the maths.

= 285 × 
9

19
= 135

108. (C) Passengers    Weight Total weight

16 × 80    =  1280

20 × 86    =   1720

Weight of 4 Boys = 440

Average weight of 4 boys = 
440

4
 = 110

kg

109. (D) Unit digit of 252126 + 244152 = 4 + 4 = 8

Hence the remainder = 8

100. (B)
13 5 1 5 3 2 13

4 4 2 2 12 6

   
      

  

=
13 5 1 29 13

4 4 2 12 6

  
     

 

= 
13 30 29 13

4 24 6

  
   

 

= 
13 1 13

4 24 6

 
   

= 
13 13

24
4 6

 
   

= 13 × 6 × 
6

13
= 36
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111. (B) P = `250
R

1
 = 4%, R

2
 = 8%

Amount after 1st year

= 250 
4

1
100

 
 

 = `150

Amount after IInd years

= 260 
8

1
100

 
 

 

= `280.80

112. (C) Part filled in 2 hrs = 
2

6
 = 

1

3

Remaining part = 
2

3

(x = y) is 7 hours work = 
2

3

So, (x + y) is 1 hr work = 
2

21

There for Z's 1 hr is work
=

 x y z 's 1hr     x y 's 1hr work  

= 
1 2

6 21

 
 

 
= 

1

14

Z alone can fill the tank in 14 hours.

113. (A)

r
5 cm

h

R=5cm

Volume of the solid sphere

= 
4

3
r3

= 
4

3
 (5)3

ATQ,

 5 × 5 × h = 
4

3
× 5 × 5 × 5

 h = 
20

3
cm

114. (C) r = 18cm

h = 32 cm

Volume of Cylindrical container

=r2h

= (18)2 32

Again, Volume of conical heap

r

h =24cm

= 
21

r h
3


= 
21

r 2y
3


= 8 2r

Now, Volume of cylindrical container =
volume of conical heap

 (18)2 32 = 8r2

r2 = (36)2

r = 36 cm

115. (D)   The shadow is 130 cm the actual
height is 169 cm

 actual height 1 cm — 
169

130

actual height 420 cm — 
169

420
130



= 546 cm

116. (C) Let the amount of Royalty to be paid
for these books be ` r

then, 20 : 15 = 30600 : r

r = `22,950

117. (C) Central age corresponding to royalty

= (15% of 360)° = 54°

118. (B) Marked price of the book = 120% of CP

Cost of paper = 25% of CP

Let the cost of paper for a single book
be `n

then, 120 : 25 = 180 : h

h = `37.50

119. (A)  For the publisher to earn a profit of 25%
SP = 125% SP = 125% of CP

Also, transporation cost = 10%, of CP

Let the SP of 5500 books be ` x

Then, 10 : 125 = 82500 : x

SP of one book = `
1031250

5500
 = `187.5

120. (D) Printing cost of book = 20% of CP

Royalty on book = 15% of CP

Difference = (20% of CP) – (15% of CP)

= 5% of CP

 Diffn = 
5% of CP

100 %
Printing cos t

 
 

 
 = 25%
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121. (B) POLIS   SROLV   MRUGS   PUXJV

+3                         +3

122. (C)  16 × 12 ÷ 8 + 13 – 15

= 
16 12

8


 + 13 – 15

= 24 – 2

= 22

123. (C) 380, 188, 92, 48, 20, 8, 2

380 ÷ 2 – 2 = 188

188 ÷ 2 – 2 = 92

92 ÷ 2 – 2 = 44

44 ÷ 2 – 2 = 20

20 ÷ 2 – 2 = 8

8 ÷ 2 – 2 = 2

nh x;h  Üak`[kyk esa 48 dh txg 44 gksuk pkfg,A 48

xyr gSA

124. (B)

A B

C

D

E

F

HkkbZifr

firk

iq=k iq=kh

cgu

ekrk

fn;s x;s fp=k ls LIk"V gS fd ekrk E gSA
125. (B) vaxsth o.kZekyk esa dqy 11 (A, H, I, M, O, T, U,

V, W, X, Y) v{kj niZ.k esa ns[kus ij leku fn[kkbZ
nsaxasA

126. (B)

127. (A) fn[kkbZ xbZ vkd`fr esa vk;rksa dh la[;k 10 gSA
128. (C) 9, 12, 15 dk y?kqÙke lekioR;Z =  180

vr% rhuksa ?kf.V;k¡ ,d lkFk 180 feuV ckn vFkkZr~
= 8 : 00 + 3 : 00

= 11 : 00 iwokZgu ij ctsaxhaA

129. (A) O;fDRk

2 ehy

izkjfEHkd
LFkku 2 ehy
fn'kk vkjs[k ls Li"V gS fd O;fDr var esa iwoZ fn'kk dh
vksj tk jgk gSA

130. (A)

10 5

15 10

ck;sa    nk;sa
jke    ';ke

iafDr esa dqy Nk=kksa dh la[;k = 15 + 5 – 1 = 19

ifjorZu ds ckn ';ke dk nk;sa ls LFkku =  19+1–10osa

131. (B)
A         D

+3

D         I
+5

I         P
+7

         G
+3

         N
+5

         W
+7

132. (C) ftl izdkj]

32 2
15

2


  rFkk 

56 2
27

2




rFkk 
86 2

42
2


  gS mlh izdkj 

74 2
36

2




gksuk pkfg, rFkk tks ugha gSA vr% fodYi (D) 'ks"k
vU; fodYi lewgksa ls fHkUu gSA

133. (D) ftl izdkj]
9 + 3 + 13 = 25

rFkk] 10 + 14 + 1 = 25

mlh izdkj 6 + 8 + ? = 25

? = 25 – 14 = 11

134. (C) ?kM+h dh lqbZ;k¡ izR;sd 
12

11
 ?kaVs ckn lEikrh gksrh gSA

 
12

11
 ?kaVs esa ---------------- 1 ckj

24 ?kaVs esa ------------------- 
11

12
 × 24= 22 ckj

135. (B) ftl izdkj]

R   A  D  I  O           U   D  G   L   R
+3
+3
+3
+3

+3

mlh izdkj]

P   H  O  T  O           S   K  R   W   R
+3
+3
+3
+3

+3

136. (B)
7 2

9ok¡ fnu
vkt ('kfuokj)

c`gLifrokj c`gLifrokj
vr% 9 fnu igys ;k 2 fnu igys c`gifrokj Fkk
blfy, vkt 'kfuokj gSA

137. (B)  Ük`a[kyk fuEuor~ gS
104    117    130        156    169145

+13     +13    +13     +13    +13

vr% Li"V gS fd] 145 ds LFkku ij 130 + 13

= 143 gksxkA

138. (B)       A    L     L

1   12   12
 1 + 12 + 12 = 25
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rFkk 
N    O     W

14   15   23

 14 + 15 + 23 = 52

mlh izdkj]

   
N    O     N    E

14   15   14    5

 14 + 15 + 14 + 5 = 48

139. (B)

25 fdeh-

15 fdeh-

20 fdeh-20 fdeh-

A 
?kjB

C D

E

AE = EB – AB

= 25 – 15 = 10 fdeh- iwoZ
140. (D) 'NATIONAL' 'kCn ugha cuk;k tk ldrk D;ksafd

ewy 'kCn 'A' v{kj fliQZ ,d ckj vk;k gSA
141. (A) Let B's age = x years

 A's age = x + 4 years
ATQ,

(x + 4) × 3 = (x + 4) × 16

 3x + 12 = x + 20
 2x = 8
 x = 4 years
A's years = x + 4 = 8 years
2 years before

A's age = 8 – 2 = 6 years
B's age = 4 – 2 = 2 years

142. (D) ftl izdkj ̂ o`Ùk* dk lEcU/ ̂ ifjf/* ls gSA mlh izdkj
^oxZ dk lEcU/ ^ifjfefr* ls gSA

143. (A) fn;k gS& F = 4, O = 7, R = 8, C = 2, E = 3, T
= 9, I = 6, G = 5
 FIRE = 4683

144. (D) A

B C

D

E
F

G

H
I J
K

L M

NO

pkSdksj (Square) fp=kksa dh la[;k
= ABCD, EFKB, FGCK, LFHI, HJNO rFkk
FMIJ

vFkkZr& 6

145. (C) nh x;h la[;kvksa dk Øe& 3 5 1 4 6 2 9 8 7

la[;kvksa dk vkjksgh Øe& 1 2 3 4 5 6 7 8 9

vr% Li"V gS fd 4, 8 dk Øe ugha cnysxkA
146. (C) yEcbZ dk Øe fuEuor gS&

P>R>T>S>Q

vr% Li"V gS fd P lcls vf/d yEck gSA

147. (C) ftl izdkj
9 × 10 = 90

11 × 12 = 132

mlh izdkj]
13 × 14 = 182

148. (A)  Ük`a[kyk fuEuor~ gS&
bcd/abcd/abcd/abcd/a

vr% fjDr LFkku ij a, c, d, b gksxkA
149. (A) 25 A 36 C 2 B 4 R 11

iz'ukuqlkj]
25 + 36 × 2 ÷ 4 –11

= 25 + 18 – 11
= 32

150. (B) D B G A F C E

G is exactly between A and B.

151. (C) 10ok¡ fnu = 'kfuokj

 17. 24 Hkh 'kfuokj gksxk
 27ok¡ fnu = 'kfuokj + 3 fnu
= eaxyokj

152. (C) 'Paper' means 'Yellow'
153. (A)

eNfy;k¡  rSj   ldrh gSa   = 2   4   5

eD[kh dhV gSa¾ 167

eNfy;k¡  ugha   mM+ rh   =  5     1   8

vr% Li"V gS fd i{kh  = 3, mM+uk  = 1, ldrs gSa
 = 2, eNyh =  5, rSjuk  = 4, rFkk ugha  = 8

 i{kh uha rSjrs =  384

154. (B)

155. (D)

156. (B)
157. (D)

Opposite

158. (A) vkd`fr;ksa esa yxkrkj ,d&,d Hkqtk dh o`f¼ gks jgh
gS rFkk vkd`fr 90º /we jgh gSA vr%  Ük`a[kyk dh
vxyh vd`fr fodYi (A) vd`fr gksxhA

159. (C)  Ük`a[kyk fuEuor~ gS&
51 66 102 123 146                       83

+15   +17    +19    +21     +23

160.  (A) 41 triangles
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1. (B)

2. (B)

3. (C)

4. (A)

5. (B)

6. (D)

7. (B)

8. (C)

9. (C)

10. (C)

11. (B)

12. (C)

13. (A)

14. (B)

15. (D)

16. (B)

17. (B)

18. (D)

19. (B)

20. (A)

21. (A)

22. (D)

23. (B)

24. (B)

25. (B)

26. (B)

27. (B)

28. (C)

29. (A)

30. (B)

31. (A)

32. (C)

33. (C)

34. (B)

35. (C)

36. (B)

37. (C)

38. (B)

39. (A)

40. (B)

41. (B)

42. (A)

43. (B)

44. (B)

45. (C)

46. (B)

47. (C)

48. (D)

49. (D)

50. (C)

51. (C)

52. (B)

53. (C)

54. (A)

55. (C)

56. (D)

57. (C)

58. (A)

59. (B)

60. (C)

61. (B)

62. (C)

63. (C)

64. (D)

65. (A)

66. (B)

67. (A)

68. (B)

69. (A)

70. (B)

71. (B)

72. (A)

73. (C)

74. (A)

75. (B)

76. (B)

77. (D)

78. (A)

79. (D)

80. (C)

81. (B)

82. (A)

83. (B)

84. (A)

85. (D)

86. (D)

87. (A)

88. (C)

89. (D)

90. (B)

91. (B)

92. (C)

93. (C)

94. (B)

95. (D)

96. (C)

97. (A)

98. (B)

99. (D)

100. (A)

101. (D)

102. (C)

103. (C)

104. (A)

105. (D)

106. (B)

107. (A)

108. (C)

109. (D)

110. (B)

111. (B)

112. (C)

113. (A)

114. (C)

115. (D)

116. (C)

117. (C)

118. (B)

119. (A)

120. (D)

121. (B)

122. (C)

123. (C)

124. (B)

125. (C)

126. (B)

127. (A)

128. (C)

129. (A)

130. (A)

131. (B)

132. (C)

133. (D)

134. (C)

135. (B)

136. (B)

137. (B)

138. (B)

139. (B)

140. (D)

141. (A)

142. (D)

143. (A)

144. (D)

145. (C)

146. (C)

147. (C)

148. (A)

149. (A)

150. (B)

151. (C)

152. (C)

153. (A)

154. (B)

155. (D)

156. (B)

157. (D)

158. (A)

159. (C)

160. (A)

UP SI ANSWER KEY - 39




